APS INTERNATIONAL SCHOOL, UJHANI
SUMMER HOLIDAY HOMEWORK (2024-25)
CLASS- X1l (COMMERCE)

SUBJECT- ENGLISH
Reading and Writing Practice
1- First Five unseen Passages from Practice-Paper Bravia.
2- Worksheet 23,24,25,26, 82,83,84,91,92,97
Project Work
1- One Project work to develop their creative skill has been given to the students in group
of six students. This work has been displayed on the Board in the class. Their groups have
been formed.
2- Read a book (Hard Cover/Paper back edition/Kindle Edition) fictional or nonfictional
of your choice and write a review of the book. You may ask for suggestion in the class

group.

SUBJECT- ACCOUNTANCY

WORKSHEET 01

Page No. 1.21 Case 01

E:gg mg' 1%3 ggzg 82 Note: Use a Single separate notebook for
Page No. 1.32 Case 04 accountancy and business studies holiday
Page No. 1.38 Case 05

Page No. 1.39 Case 06

Page No. 1.40 Case 07

Page No. 1.43 Case 08

Page No. 1.55 Case 09

Page No. 1.55 Case 10

WORKSHEET 02

Ezgg Hg. égi g::g 8; Note: Solve above all cases and show your working
Page No. 2.34 Case 03 clearly.

Page No. 2.50 Case 04

SUBJECT- BUSINESS STUDIES
WORKSHEET 01

Q1. It is generally seen that individuals generally resist changes as change often means moving
firm a familiar secure environment into a newer and more challenging one. Identify the
importance of management highlighted above.

(a) Management helps in achieving groups goal
(b) Management creates dynamic environment
(c) Management increases efficiency

(d) Management helps in development of society.

Q2 Management is
(a) Science (c) Both Science and Art
(b) An Art (d) Profession

Q3. Twitter plans to Lay off 40,000 employees in a move aimed at driving cost efficiency which
objective of management will the firm not be able to achieve by carrying out this process?
(a) Profit (c) Efficiency
(b) Survival (d) Social

Q4. Successful managers ensures that ...

(a) Goals are achieved with least cost




(D) TTmely achievement of goals

(c) Both (a) and (b)

(d) None of the above

Q.5. Unlike professions such as medicine or law which require a practicing doctor or lawyer to
possess valid degrees, nowhere in the world it is mandatory for a manager to possess any such
specific degree. But professional knowledge and training is considered to be a desirable
qualification, since there is a greater demand for those who possess degrees or diplomas from
reputed institutions.

Identify the feature of profession to which the above case is related.

(a) Well-defined body of knowledge

(b) Restricted entry

(c) Professional association

(d) Service motive

Q6. Abhay joined a s plant supervisor in a garment manufacturing company. He founds workers
are very slow and their performance is not matching the standards. On analysing he found that it is
taking long time for workers to get raw material from store, whereas on asking, the store incharge
complained that there is no harmony in working of production department.

Every day workers approach him last minute to procure different kinds of threads, laces, mirrors,
buttons, etc. and then only he places the order with purchase manager as a result lot of time of
workers is wasted. To get the things in order. Abhay sent a notice to production department that all
the workers must informs store keeper about their requirements at least three days in advance so
that store keeper can keep it ready every morning in accordance with their requirements.

In context of above case.

(a) Identify and explain the quality of management that Abhay has introduced in the working of
company.

(b) State briefly any two points of importance of that concept.

Q7. Vivo Mobile aims to produce 20,000 mobiles in 2017. To achieve this target production
department strives for timely production, finance department agreed for timely release of funds,
purchase agreed for timely supply of raw materials and sales department agreed to take all
possible steps to sell them. Due to combined efforts of all the departments, company can achieve
its target.

(a) Which characteristic of management is highlighted in above para?

(b) Which importance of management is highlighted here?

(c) Which other aspect of management helps the Vivo Mobile Ltd. to achieve its objectives.

Q8. Certain persons who had done their MBA established 'Alpha Limited' with the aim of earning
justifiable profit and doing service to the society. In order to run their business successfully they
took the help of several people. The people working in the company were doing different
activities. Their activities were different, but their aim was the same. Here the need was to
continue putting in such efforts as may not let the people lose their aim. Therefore, the
arrangement made in the company was such that the efforts of all the people may lead them
towards the same path.

(a) Identify the feature of management described in the paragraph given above.

(b) Also explain two more features of management.

Q9- "Management is considered as a full-fledged profession.” Do you agree with this statement?
Give reasons to support your answer.

Q10. Mansi works as a manager in IT department of a Telecom company. As a result of her
excellence managerial skills, the company is able to reduce cost and increase productivity. Since
company belongs to IT sector regular amendments and upgradations are done, she conducts
regular meetings to make her team aware of these changes and guide them to adapt these changes
effectively. This helps the company to have an edge over the competitors. She motivates and leads
her team in such a manner that individual members are able to achieve their personal goals, while
achieving organisational goal. She helps in building good image of company by providing good
quality products, adapting new technology, creating more employment opportunities etc. for
greater good of the people at large.

In context of the above case.

Identify the importance of management by quoting the lines from above para.

WORKSHEET 02




QT ASmiadle TeVel of management makes sure that department nas the necessary personners or

employees, which level of management makes sure right number of workers are there and they are

having good working conditions?

(a) top level

(b) supervisory level

(c) middle level

(d) none of the above

Q32This concept ensures integration, timing, sequence of efforts, so that planned objectives are
achieved with minimum conflicts. Identify that concept.

(a) Management

(b) Coordination

(c) Planning

(d) Cooperation

Q3 "Management has to see that tasks are completed and goals are achieved with the least amount

of resources at a minimum cost." Identify the two related concepts of management.

(a) Coordination and efficiency

(b) Efficiency and effectiveness

(c) Planning and effectiveness

(d) Management and administration

Q4. Ashoka handloom Industries is a company specially manufactures bed-covers/bed-sheets.

Mr Ashok Khadhidhari is the production manager in the company. His design team developed

some prints for bed-covers in bright colours on silk. Although they looked very impressive, the

use of silk made the product too expensive for the average customer. Praising their effort, Mr

Ashok suggested that they keep the silk bed-covers for special occasions like Diwali and

Christmas and offer the bed-covers on a regular basis.

Name the main function of management to which is the above case related.

(a) Planning

(b) Organising

(c) Directing

(d) Controlling

Q5. Are planning, organising, staffing, directing and controlling applied in organisations such as

school, club, restaurant, hospitals, etc.? If yes, which characteristics of management does it

signify? Explain that characteristic.

Q6. Aarav works as a soft skill trainer in a corporate houses. She begins a new session every time

by acquainting the trainees with a process which is vital for achieving the goals of the organisation

effectively and efficiently. She also makes them understand the primary activities involved in

carrying out this process. She always insist that in absence of this process it will be difficult for

employees to achieve their personal goals. Moreover the development of societ) will be hampered.

In the context of above case:

(a) Identify the process being referred in the above para.

(b) List the primary activities of this process.

Q7. The management of Amaling the coromon organis that the members of the organisation

should work towards fulfiling the common organisational goals. This requires tear arisk ion

integration of efforts of all individuals, departments and specialists. This is beem work ahe

individuals and departments depend on each other for information and resources to perform their

respective activities. Manager needs to reconcile differences in approach, timing, efforts and

interest. At the same time, it should enable all its members to grow and develop. Thus, there is a

need to harmonise individual goals and organisational goals.

(a) State the concept of management discussed above.

(b) State any three features of the concept identified in above para.

Q8. Ashita and Lakshita are employees working in Dazzling enterprises dealing in costume

jewellery. The firm secured an urgent order for 1,000 bracelets that were to be delivered within 4

days. They were assigned the responsibility of producing 500 bracelets each at a cost of Rs 100

per bracelet. Ashita was able to produce the required number within the stipulated time at the cost

of Rs 55,000 whereas, Lakshita was able to produce only 450 units at a cost of Rs 90 per unit.

State whether Ashita and Lakshita are efficient and effective.

Give reasons to justify your answer.

Q9. XYZ Power Ltd. Set up a factory for manufacturing solar lanterns in a remote village as there

was no reliable supply of electricity in rural areas. The revenue earned by the company was

sufficient day by day, so the company decided to increase production to generate higher sales.




FOT thiS tNey decided to employ People Trom the nearby VIITages as very 1ew JoD Opportunites
were available in that area. The company also decided to provide training to their employees, for
updating their knowledge.

Identify the objectives of management discussed above by quoting lines.

WORKSHEET 03

Q1 Which of the following is an element of the political environment?

a) Existing structure of the economy in terms of the relative role of private and public

sectors.

b) Rise in the disposable income of people due to an increase in the gross domestic product of a
country.

(c) Legislation passed by the Government authorities

(d) Attitude of the elected Government representatives towards business.

Q. 2. Which characteristic of the business environment is highlighted when changes are taking
place too frequently and it becomes difficult to predict the future?

(a) Uncertainty

(b) Inter-relatedness

(c) Complexity

(d) Relativity

Q. 3. Which of the following is a component of economic environment?

(a) Concern with quality of life

(b) Rates of saving and investment

(c) Extent of government intervention in business

(d) Birth and death rates

Q.4. A recent rate cut in the interest on loans announced by the Banks encouraged Amit, a science
student of Progressive School to take a loan from State Bank of India to experiment and develop
cars to be powered by fuel produced from garbage. He developed such a car and exhibited it in the
Science Fair organized by Directorate of Education. He was awarded first prize for his invention.
Identify and explain the dimensions of business environment discussed in the above case.

(a) Economic

(b) Technological

(c) Both (a) and (b)

(d) None of the above

Q.5. Hitesh and Reena are entrepreneurs. They noticed that every year in the months of November
and December, Delhi, the capital city of India, witnesses poor air quality and rise in pollution
levels. They also observed that nowadays people are more concerned about quality of life.
Sensing the need, they were the first to bring into the market a new 'Anti-Pollution W-98 Mask'
which was not only helpful in combating the pollution but also in increasing the life expectancy of
people. Their venture saw a massive success as there was no competitor.

From the following, identify the importance of Business Environment highlighted above:

(a) Business Environment helps the firm to identify threats and early warning signals.

(b) Business Environment helps in tapping useful resources.

(c) Business Environment helps in improving performance.

d) Business Environment enables the firm to identify the opportunities and in getting the first
mover advantage.

Q6. Mahinder Agro Ltd. started a new venture for distribution of harmful and chemical fertilizers
free vegetables. They conducted a survey to find out consumer preference for such vegetables.
They found that most of the consumers were concerned about the harmful chemicals being used in
growing the vegetables. They found that 90% of the households were searching for its alternatives.
The company contacted a group of agriculture experts to lay down the procedure for growing the
vegetables by the farmers. They decided to train the farmers in new technology to grow chemical
free vegetables according to new Tech, innovative methods.

The experts also suggested soil management techniques through which farmers would be able to
create an abundant and lasting harvest.

Identify an explain the two dimensions of business environment highlighted in the above

para.

Q.7. It is heartening that the implementation of compliance requirements of the Companies Act,
2013 has progressed substantially with NIFTY 500 companies. Data shows a significant increase
in women's participation in the top management of Indian Companies from 5% few years ago to
13% now. Even companies which are not in NIFTY 500 have undertaken drives to increase
women's participation across different areas of work. The go gvernment had also announced that it
would support such companies.




[dentiTy and explain the aimensions o1 DUSINESS eENVITONMENT OISCUSSEd above which brougnt
about the change.

Q8. Tinku is a eight year old boy. As his mother's birthday was drawing closer he wanted to buya
gift for her from his pocket money. So he decided to empty ot his piggy bank. He calculated his
total savings as Rs 2500. When he shared his plan with his father he agreed to take him to a nearby
mall to buy a gift. Tinku selected a beautiful hand bag for his mother worth Rs 2500 at a store.
When Tinku handed over the money from his piggy bank to the shopkeeper, he refused to accept a
five hundred rupees note saying that it is no longer a valid currency. Tinku was very surprised.
Then his father explained to him that what the shopkeeper was saying is true as that particular type
of five hundred rupees notes have been discontinued by the government.

In context of the above case:

(a) Identify the concept being discussed in the above paragraph because of which a currency note
becomes invalid.

(b) State any three features of the concept as identified in part (a) of the question.

Q. 9. The Government is considering a pioneer proposal to launch a single debit-cum-credit card
to increase the ease and usage for the consumers. The card which will be called the "National
Mobility Card" will have unique advantages for making payments in metro, buses, parking and
making transactions during visits abroad. After hearing this news, Mega Bank decided to launch a
"Mega Mobility Card" on similar lines, so that they could be the first to exploit the opportunity,
arising due to the increasing trend of digitisation. In order to improve their performance, they laid
down a plan to hire more people in their marketing department and prepared guidelines to train
their sales force to market the new card facility being launched by the bank.

By quoting the lines, identify and explain any two points of importance of understanding Business
Environment discussed above.

Q10. Mr Raj Sinha is working as the General Manager of ‘Rajeshwari Kitchen King Limited. H
remains alive to the changes taking place in the business environment. He is of the view that if
plans are made in accordance with the proper study of the different factors of business
environment, one can be free from care for some time. But he finds his approach proving to be
wrong. He realizes that there is always a change taking place in some or the other factors of
business environment. Not only this, but one can find even one factor undergoing a change
repeatedly, such a situation creates a hurdle in the growth of business.

Which particular feature of business environment has been highlighted in the paragraph given
above? Also give the meaning of it.

WORKSHEET 04

Q1. The Economic Survey, suggests that the psychological biases can be usea in the realm of tax
compliance. It is in favour of using religious norms such "dying in debt is a sin" to improve tax
compliance.

Identify the related dimensions of business environment.

(a) Legal dimension and Social dimension

(b) Social dimension and Economic dimension

(c) Technological dimension and Political dimension

(d) Political dimension and Economic dimension

Q.2. According to a report by the India Staffing Federation (ISF), India has emerged as the fifth
largest market worldwide in flexi-staffing in 2018 and the country would have 6.1 million flexi-
workforce by 2021. It showed that haryana, Gujarat, Karnataka, Madhya Pradesh and Telangana
are the states with high growth potential for flexi-staffing but Andhra Pradesh tops the list of states
with favourable business environment.

Identify the feature of business environment being discussed above.

(a) Relativity

(b) Dynamic nature

(c) Uncertainty

(d) Inter-relatedness

Q.3. The Government of India made an announcement regarding Demonetization of the Indian
economy on November 8, 2016 with profound implications for it. The process which put
restrictions on convertibility of domestic money and bank deposits was meant to create a less-cash
economy.

One argument against the cash-lite economy is that:

(a) Internet connectivity is a prerequisite

(b) More people will be introduced into the formal economy

(c) Financial saving will increase

(d Tax evasion will be reduced




Q- 4. "Cartoony PIanet 1S a well-known mdoor playground Tor organising partes 1or chiraren m
Noida. It has many playstations and it organises various activities for the kids to enjoy.

Looking at the increasing number of children visiting 'Cartoony Planet’, a new indoor playground
in the name of 'Tiny-Tots House' came up with advanced swings, play stations and entertainment
activities near Cartoony Planet'.

To compete with the newly opened indoor playground, ‘Cartoony Planet' also added some
advanced swings and entertainment activities to attract more children.

The above information highlights one of the features of business environment. Identify the feature
from the following:

(a) Uncertainty

(c) Relativity

(b) Dynamic Nature

(d) Interrelatedness

Q. 5. Assertion (A): The eneral environment mostly influences many enterprises at the same
Reason

(R) : Theccrericant tor dedonmaling.and improhng hoperomare

of an enterprise.

(a) Both the statements (A) and (R) are correct and (R) is the right explanation of (4)

(0) Both the statements (A) and (R) are correct and (R) is not the right explanation of (4)

(c) Statement (A) is correct but statement (R) is incorrect

(d) Both statements (A) and (R) are incorrect

Q.6. There is a diferencebes to the ersting ervironment in India and other countries. Like India
wide talent-base.

offers many advantages to the outsourcing firms in terms of lowered costs and access to a Identify
the feature of business environment being discussed above.

Q.7. Smart Cities Mission is an urban renewal and retrofitting program by the Government of
India with the mission to develop 100 cities across the country making them citizen friendly and
sustainable. The Union Ministry of Urban Development is responsible for implementing the
mission in collaboration with the state governments of the respective cities. Cities will be selected
based on the Smart Cities challenge, where cities will compete in a countrywide competition to
obtain the benefits from this mission. It is a five-year program, where all of the Indian states and
Union territories are participating, except West Bengal, by hominating at least one city for the
Smart Cities challenge. Each city will create a corporate company, headed by a full-time CEO, to
implement the Smart Cities Mission. With the Government announcing an outlay of around USD
8 billion for creating 100 smart cities many international companies may express interest to
collaborate with Indian companies and the Government to build infrastructure, transportation,
renewable energy and other Greenfield projects in the country.

Identify and explain the various dimensions of business environment being referred to the in the
above case.

Q.8. In India there is a very ancient tradition of sending greetings to each other on the festivals
like Diwali, Eid, Christmas, Gurparb etc. For example, as soon as the festival of Diwali
approaches near, a heavy sale of 'Greeting Cards' begins in the market. On these occasions, the
printing industry earns a big profit. But for the last few years the place of 'Greeting Cards' has
been taken over by internet and mobile. This instruction has had a negative impact on the printing
industry.

Identify and explain the dimensions of business environment described in the paragraph

given above.

Q.9. Paytm is an Indian e-payments and e-commerce brand based out of Delhi NCR, India.
Launched in August 2010, it is a consumer brand of parent company one 97 Communications. The
name is an acronym for "Payment Through Mobile". The company employs over 13,000
employees as of January 2017 and has 3 million offline merchants across India. It also operates the
Paytm payment gateway and the Paytm Wallet. Starting from March 2017, Paytm expanded its
services to Canada with the launch of Paytm Canada. Paytm has targeted each and every person
irrespective of age, income, gender or status as its target customer because it wants to penetrate in
every nook and corner of India. Some of its major competitors are Jio Money, Airtel Money,
Mobikwik and Free charge. It acts as a portal to shop for multiple products from

apparel to electronic items. The government is propagating cashless economy system and this has
helped paytm in its endeavour. In the year 2015 Reserve Bank of India granted it a license to start
first payment bank in India. Demonetization of currency notes has also worked heavily in the
favour of the company and led to a substantial increase in active users.

In context of the above case:




(@) Taentity and explain any three armensions 01 DUSINESS ENVITONMENT DEINg referred 1o the m e
above case by quoting lines from the paragraph.

(b) Outline the concept of 'demonetisation'.

10- 'Konark Ltd." is an electronics goods manufacturing enterprise situated in Shivpuri, Madhya
Pradesh. It is earning a very low revenue in comparison to a competing electronic goods
manufacturing

enterprise, 'Nova Ltd." situated in Mumbai. Both Konark's and Nova's

operations are affected directly by the investors, customers, competitors and suppliers, which are
unique to their respective locations. In addition to this, individual firms of this firle dare affected
indirectly by the factors like the money supply in the economy, composition of the families, the
technological changes, etc.

(a) Identify and state the feature of the concept discussed in the above paragraph.

(b) Also, state any four points of importance of this concept.

SUBJECT- ECONOMICS
Prepare project file on the topic discussed in the class for practical examination.

SUBJECT- HINDI
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SUBJECT- COMPUTER SCIENCE NEW
WEEK 1

1. Write a Python program to sum all the items in a list.

2. Write a Python program to get the largest number from a list.

3. Write a Python program to count the number of strings where the string length is 2 or
more and the first and last character are same from a given list of strings.

Sample List : ['abc', 'xyz', 'aba’, '1221"]

1. Write a Python program to remove duplicates from a list.

2. Write a Python program to generate and print a list of first and last 5 elements where the
values are square of numbers between 1 and 30 (both included).

WEEK 2

1. Write a Python program to count the number of characters (character frequency) in a
string. Sample String : google.com'

Expected Result : {'0":3,'g":2,'.":1,'e": 1, 'l""1,'m": 1, 'c": 1}

2. Write a Python program to get a string from a given string where all occurrences of its
first char have been changed to 'S', except the first char itself.
Sample String : 'restart'

Expected Result : 'restaSt’

3. Write a method in python to display the elements of a list twice if it is a number and
display the element terminated with’*’ if it is not a number.

4. Write a user defined function findname (name) where name is an argument in python to
delete phone number from a dictionary phonebook on the basis of the name ,where
name is the key.

5. Write a program to input employee number and name for N employees and display all
employees’ information in ascending order of their employee number.

WEEK 3
1. Write a Python program to create a tuple of numbers and print one item.
Write a Python program to unpack a tuple into several variables.
Write a Python program to convert a tuple to a string.
Write g Pvihon pbrogram to get the 4 th element from the last element of a tuple

SN




5. Write a Python program to remove an item from a tuple.
WEEK 4
1. Write a Python script to add a key to a dictionary.
Sample Dictionary : {0: 10, 1: 20}
Expected Result : {0: 10, 1: 20, 2: 30}
2. Write a python script to concatenate the following dictionaries to create a new one.
Sample Dictionary :
dic1={1:10, 2:20}
dic2={3:30, 4:40}
dic3={5:50,6:60}
Expected Result : {1: 10, 2: 20, 3: 30, 4: 40, 5: 50, 6: 60}
Write a python script to check whether a given key already exists in a dictionary.
4. Write a Python script to generate and print a dictionary that contains a number
(between 1 and n) in the form (x, x*x).
Sample Dictionary (n=5) :
Expected Output : {1: 1, 2: 4, 3: 9, 4: 16, 5: 25}
5. Write a Python program to combine two dictionary by adding values for common keys.
dl={'a" 100, 'b": 200, 'c':300}
d2 ={'a": 300, 'b": 200, 'd":400}
Sample output: Counter({'a": 400, 'b": 400, 'd": 400, 'c': 300})

w

SUBJECT- PHYSICAL EDUCATION

1- SAI Khelo Fitness Test

2- 1 Major game (History of game, Terminology, Court Measurement, Rules &
Regulations)

3- Practice Yoga Asanas during the summer holidays (2 sitting, 2 laying, 2
standing)= On 21 of June submit the video of these asanas while practicing.

4- Practice Surya Namaskar during the vacations Make a video of Surya Namaskar
submit it by 21 of June.

SUBJECT- FINE ART
10 Still life with water colour.

SUBJECT- HINDUSTANI MUSIC VOCAL
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